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QUESTION 1

Changes have been made to several queries and reports in the system. Which caches must be cleared in the Admin
Console so the query and report changes can be applied?

A. Portal Logo

B. Query Cache

C. Security Scope

D. Object MetaData Cache

Correct Answer: B

QUESTION 2

When a transition occurs to move a record into a tri Active state, the expected behavior is that the form is in a read-only
state. This is not happening. What is the issue with the Read-Only property?

A. It is not configured in the Sub Action properties.

B. It is not configured in the Form Section properties.

C. Itis not configured in the Business Object properties.

D. Itis not configured in the State Transition properties for at least one transition.

Correct Answer: D

QUESTION 3

If the Dependent List box is checked, what must also be specified?
A. List Size

B. Master List

C. Default Value

D. Business Object

Correct Answer: B

QUESTION 4
Which statement is true about a reference when referring to a smart section or locator field?

A. It indicates a direct link between records.
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B. It is a lookup established by using a dependent association.
C. It is the slowest way to access related data and should only be used in mapping as a last resort.
D. It represents a relationship between records by bridging across the IBS_SPEC_ASSIGNMENTS (association) table.

Correct Answer: A

QUESTION 5

Where are two places to view the results of a completed workflow? (Choose two.)
A. Workflow Builder

B. Workflow Instance Tab of a record

C. Workflow Events in the Admin Console

D. Workflows Executing in the Admin Console

E. Workflow Agent Manager in the Admin Console

Correct Answer:. AB
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